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= 11,626
o 27,128
14 JIEr2 A2 38,754 38,754 0
O AR MAEAB N2 38,754
& 11,626
i 27,128
222 2ol KA (A 200,000 200,000 0
301 PN 200,000 200,000
14 JIEt2 43 200,000 200,000
O ZANR MAR2S X
40,000&*5,000& 200,000
TEFFL 2HF 20,514 4,014 16,500
201 B2 AL| 17,250 2,250 15,000
01 AR 22l 17,250 2,250 16,000
O MY SHEM 292 HN
1,125,000 & *23| 2,250
O Al IR 22X 2EEI} 228
6,000,000& 23] 12,000
O S8 HIOI2JIASH Al& SRS (B AL
xh) 1,000,000 +33! 3,000
202 Ot 1,764 1,764
ERTL] 1,764 1,764
O MBAZNE SHOI
70,0002 *3*12&+70/100 1,764
301 Yere A 1,500 1,500
11 HARHIRIES 1,500 1,500
O S8 HHOIRItASH Al SZASHAlH])
500,000& 33l 1,500




SN SRS
33 AU KEH sMD(E S
CHel: SAHARONY XI2AY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SOTHRONE XI3A 2,417,900 603,070 1,814,830
Jl 903,000
== 615,600
[Ea 899,300
SLEANE ALY 32,000 32,000 0
< 9,600
s 22,400
307 lztol & 32,000 32,000 0
= 9,600
= 22,400
02 2IZHBYAIHE & 32,000 32,000 0
O Fitatd e A 32,000
= 9,600
o 22,400
pata=r=P/ EFuPNE=INE 18,000 21,100 A3,100
< 5,400
[Ea 12,600
307 elztol & 18,000 21,100 23,100
& 5,400
= 12,600
02 2B YA E X 18,000 21,100 23,100
O MRE SM=Z Atz2el 2 HMHZ
2eg 18,000
= 5,400
[Ea 12,600
SNMER AFME NE 120,800 112,200 8,600
201 et 3| 2,800 4,200 1,400
01 At22t2l] 2,800 4,200 21,400
O sdteZdE2sl fd ¢
100,000 *7& *43] 2,800
207 ARl 22,000 22,000
01 H1E4H] 22,000 22,000
O Hdediid =& X&EE d=2)t AE&E 22,000
307 gl2to| & 86,000 86,000
02 2B YAIHE A 86,000 86,000
O |2 AFNZHM XA
5,000,000& *167H 2-+50/100 40,000
O EBIRS SSAHESAE AFH 2K
L= 40,000,000 *29H 2~+50/100 40,000
O FMAHNAH s34 ZSAZ AL
1,000, 0002 *12& x50/ 100 6,000
402 2I2FX=01 & 10,000 10,000
01 QI XHE AL E R (KM TH) 10,000 10,000
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SN SRS
33 AU KEH sMD(E S
CHel: SAHARONY XI2AY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O OECHe Hosd 10| KIRAY
4,000,000%57H £~*50/100 10,000
AFHMZ CDOHE2FAIE XE 28,000 27,590 410
= 8,400
o 19,600
402 2I2F X201 & 28,000 27,590 410
== 8,400
o 19,600
02 QI EASEX(0IETHR) 28,000 27,590 410
O 4FHMZ HH2RAIE X 28,000
< 8,400
s 19,600
HHIMEE DE=AHK MHAIS 31,500 63,000 /31,500
= 9,450
Ea 22,080
402 2IZtA=01d 31,500 63,000 /31,500
=S 9,450
s 22,050
02 RIENEASEZ(0IETHR) 31,500 63,000 A31,500
O WHIMEZE DESHX MHAY (24FT)
5,000,000 *37H 2~+70/100 10,500
< 3,150
= 7,350
O dHIMEZE DESe Xl MAHAY (FH])
10,000,000 34 A+70/100 21,000
= 6,300
o 14,700
A OIS 2 2elAE 12,600 14,000 1,400
< 12,600
402 2I2FX=01 & 12,600 14,000 1,400
= 12,600
02 QI X2 AL EE (01X THE) 12,600 14,000 21,400
O EA Bt 2= 22IMY
18,000,000 *1JH 2:+70/100 12,600
= 12,600
dESIH HIEEA MSI| XEAAM 3,500 3,500 0
& 1,050
= 2,450
402 QI”F X201 & 3,500 3,500 0
= 1,050
o 2,450
02 QI X2 AL E R (0IETHE) 3,500 3,500 0
O gEsJt HIEEA MSI1 N3 A 3,500
= 1,050
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SN SRS
33 AU KEH sMD(E S
CHel: SAHARONY XI2AY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| = 2,450
HEEL0ISFA(E/UHIAEH]) XA 25,500 25,400 100
Jl 16,000
= 8,000
Ea 1,500
301 EtE NS 25,500 25,400 100
Jl 16,000
= 8,000
= 1,500
14 DBt 23 25,500 25,400 100
O JIEER 0IEEXH|(ElHH &) X 25,500
) 16,000
< 8,000
s 1,500
EER 25 HMeldl X& 42,000 0 42,000
= 12,600
Ea 29,400
402 2I2FX=01 & 42,000 0 42,000
=S 12,600
s 29,400
02 RIENSASEZ(0IETHR) 42,000 0 42,000
O JiE2E 2aHH XA
10,000& 7,000 +60/100 42,000
< 12,600
= 29,400
EER Mg MelXJEAE 300,000 300,000
402 QI2F X201 & 300,000 300,000
03 2IZ+RAETAIS I 300,000 300,000
O =2 N XMelAEAE
6,0002%50,0002 300,000
A F I ALY 574,000 0 574,000
Jl 287,000
= 143,500
Ea 143,500
402 2IZtA=01d 574,000 0 574,000
Jl 287,000
= 143,500
= 143,500
02 QI X2 AL EE(0IHTHE) 574,000 0 574,000
O Z&HotF A ALY
84,411,700& 174 A+40/100 574,000
) 287,000
= 143,500
s 143,500

®




SN SRS
33 AU KEH sMD(E S
Sl SATRNL XA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SSAHES 2= XA 1,050,000 0 1,050,000
Jl 600,000
== 225,000
[Ea 225,000
402 212 X201 & 1,050,000 0 1,050,000
7l 600,000
=S 225,000
s 225,000
02 RIINEASEZ(0IETHR) 1,050,000 0 1,050,000
O SsAHAs HE= X2 ALY 1,050,000
Jl 600,000
= 225,000
[Ea 225,000
SEUSUSAE KA 180,000 0 180,000
== 180,000
402 2I2F X201 & 180,000 0 180,000
= 180,000
02 QI T2 AL EE (01X THE) 180,000 0 180,000
O =& LSYSAE XM 180,000
== 180,000
HY AU (sS4 54,426 45,570 8,85
Jl=3H| 54,426 45,570 8,85
Jl=23H] 54,426 45,570 8,85
201 Ler23 | 30,570 22,470 8,100
01 At2teltl 24,570 16,470 8,100
O Ar22teld] 27,300,000 *90/100 24,570
02 S3=gHl 6,000 6,000 0
O s&=4Hl 6,000
202 04| 19,65 18,900 756
01 =LHO LI 19,656 18,900 756
O =0 90,000 26 x12& +70/100 19,656
203 gR=8| 4,200 4,200
M EAEgER=A 4,200 4,200
O sYFRLUEE HRFAH|
350,000 x 122 4,200
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